[5+5+5+5+5 points] 3

3. In each of the following, if the given statement is true for all sequences {a,}5%,, then mark the
O to the left of TRUE with a X ; otherwise, mark the [ to the left of FALSE Wlth a X and give a
counterexample. No explanation is required.

a. If {a,}o2, is increasing, then lim a, = co.
n—oo

] TrUE

}XI FaLse, because it does not hold for a, =| — forn>1

3=

b. If lim a, =0, then Zan converges.

n—oco
n=1

O True

¥ FaLse, because it does not hold for a, =| — forn>1

c. If Zan converges conditionally, then Z(—l)"an diverges.

n=1 n=1

O TrUE

TWL)

ﬁ\FALSE, because it does not hold for a, = forn>1

d. If Za converges, then Za converges.

ne=]
ﬁf TRUE

O FaLse, because it does not hold for a, = form>1

e. If Zai diverges, then Zaz diverges.

n=1 n=1

[0 TRUE

§ Fawse, because it does not hold for a, =| —— forn>1




